Charnwood W586 Parts List

Part no. Description

WeoNOhON=

Motor

Flat washer

Spring washer
Socket head screw

Main driving pulley wheel

Nut M5

Adjust chain wheel
Chain

"C" ring

Chain fastener sleeve
Chain fastener rivet
Feed direction indicator
Rivet

Main screw mandrel
Driven screw mandrel
Nut M6

Spring washer 6

Flat washer 6
Thicknessing table set
Guiding plate

Socket head screw
Socket head screw
Slider

Extended table parts
Cable clamp

Socket head screw
Rubber feet

Nut M8

Star washer

Flat washer

Spring washer

Cross pan headed screw
Screw base

Switch box

Pan headed screw M5x8
12A overload protector
Switch box cover
Self-tapped screw
Main switch

Body cover

Main label

Cap nut

Belt

Wheel

"O" ring

Washer

10

Part no. Description

47.
48.
49,
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.

Small chain wheel

Big gear

Square sleeve
Connecting board
Pressing block

Spring

Dividing sleeve

Chain

Chain

Socket head screw
Wire - interlock switch
Split washer
Eccentric spindle
Wire of micro switch
Wire anchor
Connecting pole A
Cross pan head screw
Flat washer

Interlock switch

Cross pan head screw
Nut M3

Cross pan head screw
Socket head screw
Interlock switch
Washer

Interlock switch
Planer Feed guide label
Switch cover

Switch trigger
Semi-rounded rivet
Body cover parts
Needle bearing
Bearing housing
Socket head screw
socket head screw
Big flat washer

Big chain wheel
Spring

Pulley wheel

main shaft

Spring

Blade base set

Baffle

Crank support

Knob of crank
Stopple



93.
94.
95.
96.
97.
98.
99.
100.
101.
102.

Screw

Locking nut

Pull stick
Adjusting pole
Knob

Pan headed screw
Arm stopple
Fixing board
Self-tapped screw
Locating pivot pin

103.
104.
105.
106.
107.
108.
109.
110.
111.
112.

Plastic stopple
Self-tapped screw
Blade guard

locker

Limiting screw
Semi-rounded rivet
Limiting screw pole
Knob

Guard arm connector
Locking sleeve

Charnwood W586 Exploded View Diagram

11




